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AN AASEN
Hu: AgEEN
Sl ABBSXH CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
LrYESAH 134,040 327,200 A 193,160
< 20,000
e 114,040
A2HESNEH 134,040 327,200 A 193,160
= 20,000
s 114,040
Y H AXES 40,000 20,000 20,000
= 20,000
s 20,000
403 MHXSHHSA=0l& 40,000 20,000 20,000
= 20,000
s 20,000
02 S| 2 S0il CH &tHCH & A 40,000 20,000 20,000
O119 S| YT A=ESS A
20,000,000& »2 Al CH 40,000
= 20,000
s 20,000
L2gEs & N 94,040 307,200 A 213,160
403 MHXSHHSA=0l& 94,040 44,200 49,840
02 S| 2 S0il CH &HCH & A I 94,040 44,200 49,840
ORZEHHEZ 15,000
OR=2&HEH 3,000
OHZRAHHHEH LAEBA ARA AX=
1,000,000& 1200 & 12,000
ONZHHHEH LAFEAM DX X
9,000,000& =14 9,000
QII=AEAE ESAE 15,000
Ostiele CHME0lS DA A 5,040
OSYEALMN 5 WFAA 3,200
oAsAEl JI=3dAUS 10,000
oA AL oS0l A 5,000
A2QAHE S AHAEHIY 3,600
OMEd S&H iz 5,000
OMEXLE HetetMETR 2¢ 8,200
BH2YAL (AHEZ D) 52,979 49,799 3,180
JlE &l 52,979 49,799 3,180
HEFAFH 4,000 4,000 0
203 YR =&l 4,000 4,000 0
03 AIMF=XH 2 =AY 1,000 1,000 0
OANHBZ=EHS =AY 1,000
04 FN2ILSFZ=AH 3,000 3,000 0
ORN2EYR=AHI 250,000 128 3,000




M HAESZ
M HE2GFU (NS
¢l =gl (chel & 9l)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
2 B2 A 7,639 7,639 0
201 LBH2d| 7,639 7,639 0
01 At 2t 2l 7,239 7,239 0
OBt~ 4,820
O= &l 2,419
02 =224l 400 400 0
03322 % HA 400
04 dl 41,340 38,160 3,180
202 oddl 41,340 38, 160 3,180
01 = LH o4 1l 41,340 38,160 3,180
OJl=g =80l 200,000& x13H x 123 31,200
O=W=Z0Hl 65,0003 x13H x12& 10,140
HREsS(tdESZ ) 215,075 844,558 A 629,483
WEAHA XS (AHES21) 215,075 202,858 12,217
Mt2edls 83 215,075 202,858 12,217
702 0I3HES 215,075 202,858 12,217
0MII2d8E3 215,075 202,858 12,217
omMtedIZ ME2 215,075




